

A Taylor polynomial approach for solving generalized pantograph equations with nonhomogenous term

Mehmet Sezer^a*, Salih Yalçinbaş^b and Mustafa Gülsu^a

^aDepartment of Mathematics, Faculty of Science, Muğla University, Muğla, Turkey; ^bDepartment of Mathematics, Faculty of Science, Celal Bayar University, Manisa, Turkey

(Received 07 December 2005; revised version received 27 April 2007; accepted 21 May 2007)

A numerical method for solving the generalized (retarded or advanced) pantograph equation with constant and variable coefficients under mixed conditions is presented. The method is based on the truncated Taylor polynomials. The solution is obtained in terms of Taylor polynomials. The method is illustrated by studying an initial value problem. IIIustrative examples are included to demonstrate the validity and applicability of the technique. The results obtained are compared to the known results.

Keywords: advanced pantograph equation; Taylor series and polynomials

2000 AMS Subject Classification: 41A10; 41A58; 65Q05

1. Introduction

In recent years, pantograph equations have been studied by many authors who have investigated both their analytical and numerical aspects [14,3,16,6,5]. Functional differential equations with proportional delays are usually referred to as pantograph equations or generalized equations. The name pantograph originated from the work of J.R.Ockendon and A.B.Tayler [18] on the collection of current by the pantograph head of an electric locomotive.

Pantograph equations are characterized by the presence of a linear functional argument and play an important role in explaining many different phenomena. In particular, they turn out to be fundamental when ODEs based models fail. These equations arise in many applications such as number theory [4], nonlinear dynamical system [15], industrial applications [10] and in studies based on biology, economy, control and electro-dynamic [1,2]

On the other hand, many methods based on Taylor polynomials have been given to find approximate solutions of the differential-difference and integro differential-difference equations [17,20,22,13,19,12,11]. Our purpose in this study is to develop and apply the mentioned methods to the pantograph equation with variable coefficients, which is an extension of pantograph equation given by Liu and Li [14] and Derfel and Iserles [3].

ISSN 0020-7160 print/ISSN 1029-0265 online © 2008 Taylor & Francis DOI: 10.1080/00207160701466784 http://www.informaworld.com

^{*}Corresponding author. Email:msezer@mu.edu.tr

M. Sezer et al.

In recent years there has been a growing interest in the numerical treatment of pantograph equations of the retarted and advanced type. A special feature of this type is the existance of compactly supported solitions [14]. This phenomonon was studied in [6], and has direct applications to approximation theory and wavelets [5].

The Taylor method has been shown to solve linear differential, integral, integro-differential equation equations and systems with approximate solutions which converge rapidly to accurate solutions [20,22,13,19]. The basic motivation of this study is to apply the Taylor method to the generalized pantograph equation

$$y^{(m)}(t) = \sum_{j=1}^{J} \sum_{k=0}^{m-1} P_{jk}(t) y^{(k)}(\alpha_j t) + f(t), \quad t \ge 0$$
(1)

which is a generalization of the pantograph equations given by [14,3,6,5,9,16,1,2], under the initial conditions

$$\sum_{k=0}^{m-1} c_{ik} y^{(k)}(0) = \lambda_i; \quad i = 0, 1, \dots, n-1$$
(2)

and to find the solution in the truncated Taylor series form

$$y(t) = \sum_{n=0}^{N} y_n t^n, \quad y_n = \frac{y^{(n)}(0)}{n!}.$$
 (3)

Here, $P_{jk}(t)$ and f(t) are analytical functions; c_{ik} , λ_i and α_j are real or complex constants; the coefficients y_n , n = 0, 1, ..., N are Taylor coefficients to be determined.

2. Fundamental matrix relations

Let us convert the expressions defined in equations (1–3) to matrix forms. First, let us assume that the function y(t) and its derivative $y^{(k)}(t)$, respectively, can be expanded to the Taylor series about t = 0 in the forms

$$y(t) = \sum_{n=0}^{\infty} y_n t^n, \quad y_n = \frac{y^{(n)}(0)}{n!}$$
 (4)

and

$$y^{(k)}(t) = \sum_{n=0}^{\infty} y_n^{(k)} t^n$$
(5)

where for k = 0, $y^{(0)}(t) = y(t)$ and $y_n^{(0)} = y_n$.

Now, take the derivative of equation (5) with respect to *t* and then put $n \rightarrow n + 1$:

$$y^{(k+1)}(t) = \sum_{n=1}^{\infty} n y_n^{(k)} t^{n-1} = \sum_{n=0}^{\infty} (n+1) y_{n+1}^{(k)} t^n$$
(6)

From (5), it is clear that

$$y^{(k+1)}(t) = \sum_{n=0}^{\infty} y_n^{(k+1)} t^n.$$
(7)

Using the relations (6) and (7), we have the recurrence relation between the Taylor coefficients $y_n^{(k)}$ and $y_n^{(k+1)}$ of $y^{(k)}(t)$ and $y^{(k+1)}(t)$:

$$y_n^{(k+1)} = (n+1)y_{n+1}^{(k)}; \quad n,k = 0, 1, 2, \dots$$
 (8)

Now, let us take n = 0, 1, 2, ..., N and assume $y_n^{(k)} = 0$ for n > N. Then, the system (8) can be transformed into the matrix form

$$\mathbf{Y}^{(k+1)} = \mathbf{M}\mathbf{Y}^{(k)}, \quad k = 0, 1, 2, \dots$$
 (9)

where

$$\mathbf{Y}^{(k)} = \begin{bmatrix} y_0^{(k)} \\ y_1^{(k)} \\ \vdots \\ Y_N^{(k)} \end{bmatrix}, \quad \mathbf{M} = \begin{bmatrix} 0 & 1 & 0 & \dots & 0 \\ 0 & 0 & 2 & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ 0 & 0 & 0 & \dots & N \\ 0 & 0 & 0 & \dots & 0 \end{bmatrix}.$$

For $k = 0, 1, 2, \ldots$, it follows from (9) that

$$\mathbf{Y}^{(1)} = \mathbf{M}\mathbf{Y}^{(0)} = \mathbf{M}\mathbf{Y}$$
$$\mathbf{Y}^{(2)} = \mathbf{M}\mathbf{Y}^{(1)} = \mathbf{M}^{2}\mathbf{Y}$$
$$\vdots$$
$$\mathbf{Y}^{(k)} = \mathbf{M}\mathbf{Y}^{(k-1)} = \mathbf{M}^{k}\mathbf{Y}$$
$$\vdots$$

where clearly

$$\mathbf{Y}^{(0)} = \mathbf{Y} = \begin{bmatrix} y_0 & y_1 & \cdots & y_N \end{bmatrix}^T.$$

On the other hand, the solution expressed by equation (3) and its derivatives can be written in the matrix forms

$$[y(t)] = \mathbf{T}\mathbf{Y} \text{ and } [y^{(k)}(t)] = \mathbf{T}\mathbf{Y}^{(k)}$$
(11)

or using the relation in equation (10)

$$[\mathbf{y}^{(k)}(t)] = \mathbf{T}\mathbf{M}^{k}\mathbf{Y}$$
(12)

where

$$\mathbf{T} = \begin{bmatrix} 1 & t & t^2 & \cdots & t^N \end{bmatrix}.$$

To obtain the matrix form of the part

$$D(t) = \sum_{j=0}^{J} \sum_{k=0}^{m-1} P_{jk}(t) y^{(k)}(\alpha_j t)$$
(13)

which is defined in equation (1), we first write the function $P_{jk}(t)$ in the form

$$P_{jk}(t) = \sum_{i=0}^{N} P_{jk}^{(i)} t^{i}, P_{jk}^{(i)} = \frac{P_{jk}^{(i)}(0)}{i!}$$
(14)

M. Sezer et al.

and then, substituting (14) into (13), we obtain

$$D(t) = \sum_{j=0}^{J} \sum_{k=0}^{m-1} \sum_{i=0}^{N} P_{jk}^{(i)} t^{i} y^{(k)}(\alpha_{j} t).$$
(15)

Here it is seen that, from equation (5),

$$y^{(k)}(\alpha_j t) = \sum_{n=0}^{N} y_n^{(k)}(\alpha_j)^n t^n.$$

Hence the matrix representation of the terms $t^i y^{(k)}(\alpha_i t)$ in equation (15) becomes

$$[t^{i}y^{(k)}(\alpha_{j}t)] = \mathbf{T}\mathbf{I}_{i}\mathbf{A}_{j}\mathbf{Y}^{(k)}$$

or from (10),

$$[t^{i}y^{(k)}(\alpha_{j}t)] = \mathbf{T}\mathbf{I}_{i}\mathbf{A}_{j}\mathbf{M}^{k}\mathbf{Y}, \quad i = 0, 1, 2, \dots, N$$
(16)

where

$$\mathbf{A}_{j} = \begin{bmatrix} (\alpha_{j})^{0} & 0 & \cdots & 0 \\ 0 & (\alpha_{j})^{1} & \cdots & 0 \\ \vdots & \vdots & \vdots & \vdots \\ 0 & 0 & \cdots & (\alpha_{j})^{N} \end{bmatrix}, \quad \mathbf{I}_{i} = \begin{bmatrix} 0 & 0 & \cdots & 0 & 0 & \cdots & 0 \\ 0 & 0 & \cdots & 0 & 0 & \cdots & 0 \\ \vdots & \vdots & \cdots & \vdots & \vdots & \cdots & \vdots \\ 1 & 0 & \cdots & 0 & 0 & \cdots & 0 \\ 0 & 1 & \cdots & 0 & 0 & \cdots & 0 \\ \vdots & \vdots & \cdots & \vdots & \vdots & \cdots & \vdots \\ 0 & 0 & \cdots & 1 & 0 & \cdots & 0 \end{bmatrix}_{(N+1) \times (N+1)}$$

clearly $\mathbf{I}_i = \mathbf{I}_1^i, i = 0, 1, 2, ..., N$

Substituting the expression (16) into (15), we have the matrix relation

$$[D(t)] = \sum_{j=0}^{J} \sum_{k=0}^{m-1} \sum_{i=0}^{N} \mathbf{P}_{jk}^{(i)} \mathbf{T} \mathbf{I}_i \mathbf{A}_j \mathbf{M}^k \mathbf{Y}.$$
(17)

We now assume that the function f(t) can be expanded as

$$f(t) = \sum_{n=0}^{N} f_n t^n, \quad f_n = \frac{f^{(n)}(0)}{n!}$$

or written in the matrix form

$$[f(t)] = \mathbf{TF} \tag{18}$$

where

$$\mathbf{F} = [f_0 \quad f_1 \quad \cdots \quad f_N]^T.$$

Note that the matrix form of the first form $y^{(m)}(t)$, according to the relation (12), is

$$[\mathbf{y}^{(m)}(t)] = \mathbf{T}\mathbf{M}^{m}\mathbf{Y}$$
(19)

1058

Next we can obtain the corresponding matrix form for the initial conditions (7) as

$$\sum_{k=0}^{m-1} c_{ik} \mathbf{T}(0) \mathbf{M}^{k} \mathbf{Y} = [\lambda_{i}]; \quad i = 0, 1, 2, \dots, m-1$$
(20)

where

$$\mathbf{T}(0) = \begin{bmatrix} 1 & 0 & 0 & \cdots & 0 \end{bmatrix}.$$

3. Method of solution

We are now ready to construct the fundamental matrix equation corresponding to equation (1). For this purpose, substituting the matrix relations (17-19) into equation (1) and then simplifying, we obtain the fundamental matrix equation

$$\left\{ \mathbf{M}^{m} - \sum_{j=0}^{J} \sum_{k=0}^{m-1} \sum_{i=0}^{N} \mathbf{P}_{jk}^{(i)} \mathbf{I}_{i} \mathbf{A}_{j} \mathbf{M}^{k} \right\} \mathbf{Y} = \mathbf{F}$$
(21)

which corresponds to a system of (N + 1) algebraic equations for the (N + 1) unknown coefficients y_0, y_1, \ldots, y_n .

Briefly, we can write equation (21) in the form

$$\mathbf{W}\mathbf{Y} = \mathbf{F} \text{ or } [\mathbf{W}; \mathbf{F}] \tag{22}$$

so that

$$\mathbf{W} = [w_{pq}] = \mathbf{M}^m - \sum_{j=0}^J \sum_{k=0}^{m-1} \sum_{i=0}^N \mathbf{P}_{jk}^{(i)} \mathbf{I}_i \mathbf{A}_j \mathbf{M}^k.$$

Also, the matrix form (20) for the conditions (2) can be written as

$$\mathbf{U}_{i}\mathbf{Y} = [\lambda_{i}] \text{ or } [\mathbf{U}_{i}; \lambda_{i}]; \quad i = 0, 1, 2, \dots, m-1$$
 (23)

where

$$\mathbf{U}_i = \sum_{k=0}^{m-1} c_{jk} \mathbf{T}(0) \mathbf{M}^k = \begin{bmatrix} u_{i0} & u_{i1} & \cdots & u_{iN} \end{bmatrix}.$$

To obtain the solution of equation (1) under the initial conditions (2), by replacing the – rows matrices $[\mathbf{U}_i; \lambda_i]$ in equation (23) by the last *m* rows of the matrix $[\mathbf{W}; \mathbf{F}]$ in equation (22), we have the argumented matrix [20,22]

$$[\tilde{\mathbf{W}}; \tilde{\mathbf{F}}] = \begin{bmatrix} w_{00} & w_{01} & \cdots & w_{0N} & ; & f_0 \\ w_{10} & w_{11} & \cdots & w_{1N} & ; & f_1 \\ \vdots & \vdots & \vdots & \vdots & ; & \vdots \\ w_{N-m,0} & w_{N-m,1} & \cdots & w_{N-m,N} & ; & f_{N-m} \\ u_{00} & u_{01} & \cdots & u_{0N} & ; & \lambda_0 \\ u_{10} & u_{11} & \cdots & u_{1N} & ; & \lambda_1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & ; & \vdots \\ u_{m-1,0} & u_{m-1,1} & \cdots & u_{m-1,N} & ; & \lambda_{m-1} \end{bmatrix}$$
(24)

If det($\tilde{\mathbf{W}}$) $\neq 0$, then we can write

$$\mathbf{Y} = (\mathbf{W})^{-1}\mathbf{F}.$$
 (25)

Thus, the coefficients y_n , n = 0, 1, ..., N are uniquely determined by (25). If det($\tilde{\mathbf{W}}$) = 0, then there is no solution and the method can not be used. Also, by means of systems we may obtain the particular solution.

On the other hand, we can easily check the accuracy of the solutions as follows [22,13]:

Since the obtained polynomial solution is an approximate solution of equation (1), it must be satisfied approximately; that is, for $t = t_r$, r = 0, 1, 2, ...

$$E(t_r) = \left| y^{(m)}(t_r) - \sum_{j=0}^{J} \sum_{k=0}^{m-1} P_{jk}(t_r) y^{(k)}(\alpha_j t_r) - f(t_r) \right| \cong 0$$

or

$$E(t_r) \leq 10^{-k}$$
 (k_r positive integer).

If max $10^{-k_r} = 10^{-k}$ (k any positive integer) is prescribed, then the truncation limit N is increased until the difference $E(t_r)$ at each of the points t_r becomes smaller than the prescribed 10^{-k} .

4. Examples

In this section, several numerical example are given to illustrate the properties of the method and all of them were performed on the computer using a program written in Maple9. The absolute errors in Tables are the values of $|y(t) - y_N(t)|$ at selected points.

Example 1 [9] Let us first consider the equation

$$y'(t) = \frac{1}{2}e^{(t/2)}y\left(\frac{t}{2}\right) + \frac{1}{2}y(t), \quad 0 \le t \le 1, \quad y(0) = 1$$
(26)

which has the exact solution $y(t) = e^t$. When the presented method is applied to equation (24), the fundamental matrix equation becomes

$$\left\{\mathbf{M}^{1}-\sum_{j=0}^{1}\sum_{k=0}^{0}\sum_{i=0}^{5}\mathbf{P}_{jk}^{(i)}\mathbf{I}_{i}\mathbf{A}_{j}\mathbf{M}^{k}\right\}\mathbf{Y}=\mathbf{F}.$$

Hence, the computed results are compared with other methods [1,7,21,8] in Table 1.

Figure 1 shows the plot of the error points $E(t_i)$ for N = 5, N = 7 and N = 9. This plot clearly indicates that when we increase the truncation limit N, we have less error.

Example 2 Consider the pantograph equation of third order

$$y'''(t) = ty''(2t) - y'(t) - y\left(\frac{t}{2}\right) + t\cos(2t) + \cos\left(\frac{t}{2}\right)$$

$$y(0) = 1, y'(0) = 1, y''(0) = -1.$$

We give numerical analysis for various N values in Table 2.

1060

t	Spline Fnk. Approx. [7]	Present method (N = 5)	Spline method [21]	Spline method [8]	Present method (N = 7)	ADM with 13 terms [1]	Present method (N = 9)
0.2	0.198 E-7	0.271E-6	1.37 E-11	3.10 E-15	0.256E-10	0.000000	0.705E-14
0.4	0.473 E-7	0.882E-5	3.27 E-11	7.54 E-15	0.333E-8	2.22 E-16	0.106E-10
0.6	0.847 E-7	0.682E-4	5.86 E-11	1.39 E-14	0.577E-7	2.22 E-16	0.294E-9
0.8 1	0.135 E-6 0.201 E-6	0.293E-3 0.912E-3	9.54 E-11 1.43 E-10	2.13 E-14 3.19 E-14	0.438E-6 0.212E-5	1.33 E-15 4.88 E-15	0.386E-8 0.290E-7

Table 1. Error analysis of Example 1 for the *t* value.



Figure 1. Error points $E(t_i)$ and the truncation limits for N = 5, 7 and 9.

0.825335

0.696706

0.540302

0.6

0.8

1.0

t	Exact solution	Present method				
		$N_{\rm e}=5$	$N_{\rm e} = 8$	$N_{\rm e} = 10$		
0.0	1.000000	0.000000	0.000000	0.000000		
0.2	0.980066	0.112E-4	0.100E-11	0.900E-11		
0.4	0.921060	0.398E - 4	0.132E - 7	0.115E-9		

0.134E-3

0.115E-2

0.417E-2

Table 2. Error analysis of Example 2 for the t value.

Example 3 [16] Consider the pantograph equation of first order

$$y'(t) = -y(t) + \frac{q}{2}y(qt) - \frac{q}{2}e^{-qt}, \quad y(0) = 1$$
 (28)

0.574E-6

0.786E-5

0.587E-4

0.986E-8

0.234E-6

0.271E-5

where $y(t) = e^{-t}$. Table 3 compares the results of the present method and collocation method [20] for this problem.

Example 4 [9] Consider the pantograph equation of second order

$$y''(t) = \frac{3}{4}y(t) + y\left(\frac{t}{2}\right) - t^2 + 2, \quad y(0) = 0, \ y'(0) = 0, \ 0 \le t \le 1.$$

After the ordinary operations and following the method in Section 3, we obtain $y(t) = t^2$ and this is the exact solution.

	Murova [16]	Present method			Murova [16]	Present method	
t	(q = 1)	N = 10	N = 11	N = 12	(q = 0.2)	N = 10	<i>N</i> = 12
2^{-1}	0.500E-5	0.100E-9	0.300E-9	0.000000	0.219E-4	0.200E-9	0.124E-9
2^{-2}	0.187E-6	0.200E-9	0.500E-9	0.100E-9	0.108E-5	0.100E-9	0.974E-10
2^{-3}	0.643E-8	0.200E-9	0.400E-9	0.000000	0.381E-7	0.100E-9	0.700E-10
2^{-4}	0.210E-9	0.200E-9	0.400E-9	0.000000	0.126E-8	0.100E-9	0.914E-10
2^{-5}	0.670E-11	0.100E-9	0.200E-9	0.000000	0.409E-10	0.100E-9	0.528E-10
2^{-6}	0.210E-12	0.000000	0.100E-9	0.000000	0.120E-11	0.000000	0.195E-10

Table 3. Error analysis of Example 3 for the *t* value.

Example 5 Let us consider the problem

$$y''(t) = \frac{1}{2}ty'(2t) - 3y\left(\frac{1}{2}t\right) - \frac{15}{4}t^2 + 2t - 3, \quad y(0) = -1, \quad y'(0) = 2.$$
(30)

Following the previous procedures, we get the approximate solution of problem (30) for N = 5 as

$$y(t) = 3t^2 + 2t - 1$$

which is an exact solution.

5. Conclusions

A new technique using the Taylor series to numerically solve the pantograph equations is presented. Nonhomogenous pantograph equation with variable coefficients are usually difficult to solve analyticaly. Then it is required to obtain the approximate solutions. For this reason, the present method has been proposed for approximate solution and also analytical solution.

It is observed that the method has the best advantage when the known functions in an equation can be expanded to the Taylor series with converge rapidly. To get the best approximation, we take more terms from the Taylor expansion of functions; that is, the truncation limit N must be chosen large enough.

The method presented in this study is a method for computing the coefficients in the Taylor expansion of the solution of a nonhomogenous pantograph equation. The Taylor matrix method is an effective method for cases where the known functions have the Taylor series expansions at t = 0. In addition, an interesting feature of this method is to find the analytical solutions if the equation has an exact solution that is a polynomial of degree N or less than N.

The method can also be extended to the non-linear pantograph initial problem but some modifications are required.

Acknowledgements

The authors thank the anonymous referees for their very valuable discussions and suggestions which led to a great improvement of this paper.

References

- W.G. Ajello, H.I. Freedman and J. Wu, A model of stage structured population growth with density depended time delay, SIAM J. Appl. Math. 52 (1992), pp. 855–869.
- M.D. Buhmann and A. Iserles, Stability of the discretized pantograph differential equation, Math. Comput. 60 (1993), pp. 575–589.

- [3] G. Derfel and A. Iserles, The pantograph equation in the complex plane, J. Math. Anal. Appl. 213 (1997), pp. 117–132.
- [4] G.A. Derfel and F. Vogl, On the asymptotics of solutions of a class of linear functional-differential equations, Eur. J. Appl. Math. 7 (1996), pp. 511–518.
- [5] G. Derfel, N. Dyn and D. Levin, Generalized refinement equation and subdivision process, J. Approx. Theory 80 (1995), pp. 272–297.
- [6] G. Derfel, On compactly supported solutions of a class of functional-differential Equations, in "Modern Problems of Function Theory and Functional Analysis", Karaganta University Press (1980)(in Russian).
- [7] A. El-Safty and S.M. Abo-Hasha, On the application of spline functions to initial value problems with retarded argument, Int. J. Comput. Math. 32 (1990), pp. 173–179.
- [8] A. El-Safty, M.S. Salim and M.A. El-Khatib, Convergence of the spline function for delay dynamic system, Int. J. Comput. Math. 80(4) (2003), pp. 509–518.
- [9] D.J. Evens and K.R. Raslan, *The Adomian decomposition method for solving delay differential equation*, Int. J. Comput. Math. 82(1) (2005), pp. 49–54.
- [10] L. Fox., D.F. Mayers, J.A. Ockendon and A.B. Tayler, On a functional differential equation, J. Ins. Math. Appl. 8 (1971), pp. 271–307.
- [11] M. Gulsu and M. Sezer, A method for the approximate solution of the high-order linear difference equations in terms of Taylor polynomials, Int. J. Comput. Math. 82(5) (2005), pp. 629–642.
- [12] M. Gulsu and M. Sezer, A Taylor polynomial approach for solving differential-difference equations, J. Comput. Appl. Math. 186(2) (2005), pp. 349–364.
- [13] M. Gulsu and M. Sezer, The approximate solution of high-order linear difference equation with variable coefficients in terms of Taylor polynomials, Appl. Math. Comput. 168 (2005), pp. 76–88.
- [14] M.Z. Liu and D. Li, Properties of analytic solution and numerical solution of multi-pantograph equation, Appl. Math. Comput. 155 (2004), pp. 853–871.
- [15] G.R. Morris, A. Feldstein and E.W. Bowen, *The Phragmen-Lindel' of principle and a class of functional-differential equations*, Proc. NRL-MRC Conf. Ordinary Differential Equations (1972), pp. 513–540.
- [16] Y. Muroya, E. Ishiwata and H. Brunner, On the attainable order of collocation methods for pantograph integrodifferential equations, J. Comput. Appl. Math. 152 (2003), pp. 347–366.
- [17] Ş. Nas, S. Yalçınbaş and M. Sezer, A Taylor polynomial approach for solving high- order linear Fredholm integrodifferential equations, Int. J. Math. Educ. Sci. Technol. 31(2) (2000), pp. 213–225.
- [18] J.R. Ockendon and A.B. Tayler, *The dynamics of a current collection system for an electric locomotive*, Proc. Roy. Soc. London Ser. A 322 (1971), pp. 447–468.
- [19] M. Sezer and M. Gulsu, A new polynomial approach for solving difference and Fredholm integro-difference equation with mixed argument, Appl. Math. Comput. 171(1) (2005), pp. 332–344.
- [20] M. Sezer, A method for the approximate solution of the second order linear differential equations in terms of Taylor polynomials, Int. J. Math. Educ. Sci. Technol. 27(6) (1996), pp. 821–834.
- [21] M. Shadia, Numerical solution of delay differential and neutral differential equations using spline methods, Ph.D. thesis, Assuit University, 1992.
- [22] S. Yalçınbaş and M. Sezer, The approximate solution of high-order linear Volterra-Fredholm integro-differential equations in terms of Taylor polynomials, Appl. Math. Comput. 112 (2000), pp. 291–308.